SDO=

SE ERY - T8 =
58~58p SA-27[(R]2)
49 2A| 27|
3¢ © DD ® DDL
#HE 4
72~72p 2H-22
6 24| O|RIE 2|0 A Mz L= o] A7F 33702 @l 0] E2|o| 2|4
HS 6 O|RIE2|0M 20| 27} 3370 T 0] E2|Q| 2|4 2f#e? E1||;:7|01| 4 M| 29| 47} 3370 f 0] E2|Q| 2|
=211
73~73p =422
158 24| & o} 7iA] wEhdale] B4 F ‘A AR o disl & ojg] 7Ix] wEhgAle] EA F A Ao dish
215 UelhSih o2 O, © F () ol S0 g2 Y&s etk g O, © 5 () ol Eo1d ¢ yES
A2 gt A2 A2 4t 22?7 (&, O 28, O 2482 gt}
142~142p i
198 A
HS 19
EP2EE
232 242 43
P2
23
163~163p s
218 o d 5 A4 2d F WA 4 Ug
S 2 -CPUZ} @A AHE 591 RET 22510 ~
PUZL EA AL 59 ZET 2E5Ha ~
176~176p s
ad sfd ol O¥ R
HS
e 4 ® DDL (S|l slo) ~
® DD(dH|o]e}g2lo]) ~
187~187p s
2 st SEs i @ BB
Ws 2 @ POP3 E+& IMAPo] Tt Ao},
@ POP T+ IMAPo] thg Agolct,
188~188p A
6% a2 olFIEF oA o] mel A$ HA| =E] & 2m-17]o|c}.
HS @6 o|REF A o] mol AL ] x| £ om-17olc}t.  [TetA #Eo] 5Y ¢ FA| =29 & 25-17 F 3102
uletA] glEo] 59 A$ YT o] £k 25-17] = 31folnz  |PIRNEHY =B8] 47} 3371 Fi L 60] "otk
olFE Y] R o] 47} 3370t H &AL 60] ot % 2m-1614 mo] $JEA}, 25-104 55 JERIR 7 (29l
Ao 2 ukdo] Elx] ohg A Zolr] R =3} )
189~189p s
11 et 27 Aol Ff Bla Bl logen + 10tk AHES] 427}
HS 111

27 Mo A =] v wBl5E log2n + 10|t} AFR 9] 427}
1024=210015.2 n=10, watx Fd v|2L35E 113)0]d},

1024=210c]n.2 n=10, wfetr Fdf vlw8l4E 118]0]ch
% log2ng 2% oA, ne HAF obd(Rekel goz el
Hx] $& A Zobr] R =gt )

EMo| 2FR2 S50 EHER Y

[
C L2 =ME WE7] ?I5H =85ks At e|&0| = ASL .




